ASSEMBLY INSTRUCTIONS

1160030 /31

Samuel KD Bamboo
Office Chair w/ Armrest

(Piiiini

M6X30

Part Identification Hardware
(1) x1 (7) x1
(2) x1 (8) x5
(3) x1 (9) x4 To Bottom of Seat
j M6X18

(4) x1 (10) x2 (11) x2

“ } ) [DiE

M6X20 M6X25
() (12) x4
1

(6) x

——  "1—

(13) x1

—

Warning!
please remove the
plastic cap during
assembly!



	页 1
	Untitled

